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Candidates are required to give their answers
in their own words as far as practicable.
a Group - A

- 1. Answer any fen from the following : 10x2=20
| (@) Define Gross Domestic Product (GDP).
(b) Define Gross National Product (GNP).
(c) What is GDP deflator?
‘ (d) State the. functions of money.
(e) What do you mean by Narrow Money? (M1)
®H What is broad money? (M3)
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(2)
(g} What is marginal propensity to consume? (MPC)

(h) What is investmment multiplier?

(i) State different components of aggregate demand.

(1) What is IS curve?
(k) Whal_ is LM curve?
‘(1) What does iS-LM model indicate?
(m) What is Say’s Law?
(n) What is inflation?
(o) Define Cash Reserve Ratio (CRR).
Group - B
2. Answer any four from the following : 4x5=20
(a) Briefly explain the circular flow of income.

(b} Explajn.role of Gross Domestic Product (GDP)
as a measure of weifare.

(c) Briefly explain different motives of holding money.

(d) Briefly explain the Keynesian consumption
function.

(e) Explain the construction of LM curve.

A T



i (3)
- (D Explain inflationary gap.

Group-C
3. Answer any two from the following : 2x10=20

(2) Explain different methods of accounting national
income. 10

(b) Explain Keynesian liquidity preference theory.
What is liquidity trap? What is marginal
propensity to save? 342

' (c) Write a note on Quantity Theory of Money.
What is Open Market Operation (OMO)? 7+3

(d) Explain different causes of inflation. Suggest
some important measures to control inflation.
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(4)
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